Bid Evaluation Report

T. Name of Procuring Agency:

Director Anti-Encroachment Force Sindh, Karachi.

2. Tender Reference No:

DIR/AEF/AB/2600, Dated 28-03-2017.

3. Tender Description/Name of work/item: Complete Police Uniform Articles.

4. Method of Procurement:

Single Stage Envelop.

Tender Published: In Newspaper

Print & Electronic Media (SPPRA ID No. & News papers names with dates)

SPPRA ID No.32465 dated 09-04-2017

Daily Express dated 29-03-2017, The Dawn dated 30-03-2017,

Hillal-e-Pakistan dated 30-03-2017

6. Total Bid documents Sold;

Five (05)

7. Total Bids Received:

Four (04)

8. Technical Bid Opening date: (if applicable) Provide details in separate form)

9. No. of Bid technically qualified (if applicable): N/A.

10. Bid(s) Rejected:

Nil

11. Financial Bid Opening date:

13-04-2017.

12. Bid Evaluation Report:

S No	Name of Firm/ Bidder	Cost offered by the Bidder	Ranking in terms of cost	Comparison with Estimated cost	Reasons for acceptance/ rejection	Remarks
0	1	2	3	4	5	6
1.	M/S Trade Zone International.	Rs.33,089,696 of Total Items, Details at Annexure-A	Lowest Bidder.	Within Estimated Cost.	Qualified and accepted being the lowest rates.	Recommended the Company being lowest rates, for final approval of Procurement Committee/Competent Authority, as the said Company full fills all Tender requirements and quoted rates submitted are also lowest.
2.	M/S Mohsin Enterprises.	Rs.33,248,920 of Total Items, Details at Annexure-B	Lowest Bidder.	Above Estimated Cost	Qualified, but not accepted due to high rates.	-
3.	M/S Shaheer Traders, Karachi.	Rs.33,348,086 of Total Items, Details at Annexure-C	Lowest Bidder.	Above Estimated Cost	Qualified, but not accepted due to high rates.	-
4.	M/S Chand Engineering, Peshawar	Rs.34,506,550 of Total Items, Details at Annexure-D	4 th Lowest Bidder.	Above Estimated Cost	Qualified, but not accepted due to high rates.	

Arif (Aziz (PSP) Superintendent of Police, Keamari, Karachi

Imran Aiaz (PSP) Superintendent of Police, Security Zone-II, Karachi

Dr. Muhammad Faroog (PSP) Director Anti Encroachment Force, Sindh Karachi

M/S Trade Zone International.

(Annexure-A)

S. No.	Name of Item	Quantity	Quoted Rate Per Item	Total
1.	MAZRI SHIRT	7000	1,237	8,659,000
2	K.D PENT	7000	1,429	10,003,000
3	BERET CAP	7000	254	1,778,000
4	SOCKS FOR MEN	7000	125	875,000
5	COTTON DURREE	600	923	553,800
6	MT DRIVER BOOT	50	2,990	149,500
7	MOSQUITO NET	1000	1,028	1,028,000
8	STAFF SHOES	1029	3,574	3,677,646
9	KIT BOX	1750	2,725	4,768,750
10	SHOULDER BADGE	2000	228	456,000
11	CAP BADGE	2000	114	228,000
12	T SHIRT Pure Cotton Black Colour.	1000	913	913,000
Grand	Total:			Rs. 33,089,696

Arif Azik (PSP)
Superintendent of Police,
Keamari, Karachi

Imran Riaz (PSP) Superintendent of Police, Security Zone-II, Karachi

Dr. Muhammad Farooq (PSP)
Director Anti Encroachment Force,
Sindh Karachi

M/S Mohsin Enterprises.

(Annexure-B)

S. No.	Name of Item	Quantity	Quoted Rate Per Item	Total
1 .	MAZRI SHIRT	7000		
			1,242	8,694,000
2	K.D PENT	7000		
		V	1,433	10,031,000
3	BERET CAP	7000		
			260	1,820,000
4	SOCKS FOR MEN	7000		
			128	896,000
5	COTTON DURREE	600	Common del 100°	
			926	555,600
6	MT DRIVER BOOT	50		
				150,000
			3,000	
7.	MOSQUITO NET	1000		
			1,030	1,030,000
8	STAFF SHOES	1029		
-			3,580	3,683,820
9	KIT BOX	1750		
			2,730	4,777,500
10	SHOULDER BADGE	2000	222	450.000
			230	460,000
11	CAP BADGE	2000		
			118	236,000
12	T SHIRT Pure Cotton Black	1000		
	Colour.		915	915,000
Grand T	otal:			Rs. 33,248,920

Arik Aziz (PSP)
Superintendent of Police,
Keamari, Karachi

Imran Giaz (PSP) Superintendent of Police, Security Zone-II, Karachi

Dr. Muhammad Farðoq (PSP) Director Anti Encroachment Force, Sindh Karachi

M/S Shaheer Traders Karachi.

(Annexure-C)

S. No.	Name of Item	Quantity	Quoted Rate Per Item	Total
1	MAZRI SHIRT	7000	1,245	8,715,000
2	K.D PENT	7000	1,435	10,045,000
3	BERET CAP	7000	263	1,841,000
4	SOCKS FOR MEN	7000	130	910,000
5	COTTON DURREE	600	930	558,000
6	MT DRIVER BOOT	50	3,008	150,400
7	MOSQUITO NET	1000	1,032	1,032,000
8	STAFF SHOES	1029	3,584	3,687,936
9	KIT BOX	1750	2,733	4,782,750
10	SHOULDER BADGE	2000	233	466,000
11	CAP BADGE	2000	120	240,000
12	T SHIRT Pure Cotton Black Colour.	1000	920	920,000
Grand	Total:	4		Rs. 33,348,086

Arif Aziz (PSP) Superintendent of Police, Keamari, Karachi Imran Rizz (PSP) Superintendent of Police, Security Zone-II, Karachi

Dr. Muhammad Farooq (PSP)
Director Anti Encroachment Force,
Sindh Karachi

M/S Chand Engineering Works Peshawar.

(Annexure-D)

M/S Chand Engineering Works Peshawar.

(Annexure-D)

S. No.	Name of Item	Quantity	Quoted Rate Per Item	Total
ŀ	MAZRI SHIRT	7000	1,299	9,093,000
2	K.D PENT	7000	1,500	10,500,000
3	BERET CAP	7000	265	1,855,000
4	SOCKS FOR MEN	7000	131	917,000
5	COTTON DURREE	600	970	582,000
6	MT DRIVER BOOT	50	3,176	158,800
7.	MOSQUITO NET	1000	1,080	1,080,000
8	STAFF SHOES	1029	3,750	3,858,750
9	KIT BOX	1750	2,736	4,788,000
10	SHOULDER BADGE	2000	239	478,000
11	CAP BADGE	2000	119	238,000
12	T SHIRT Pure Cotton Black Colour.	1000	958	958,000
Grand	Total:			Rs. 34,506,550

Arif Aziz (PSP) Superintendent of Police, Keamari, Karachi mran Biaz (PSP) Superintendent of Police, Security Zone-II, Karachi

Dr. Muhammad Farooq (PSP)
Director Anti Encroachment Force,
Sindh Karachi



OFFICE OF THE DIRECTOR ANTI ENCROACHMENT FORCE, SINDH, KARACHI.

COMPARATIVE STATEMENT

S.No.	Name of Company/Firm	Quoted Rate Total Kit	Remarks/Rank
1.	M/S Trade Zone, International.	Rs.33,089,696	1st Lowest Bidder
2.	M/S Mohsin Enterprises.	Rs.33,248,920	2nd Lowest Bidder
3.	M/S Shaheer Traders, Karachi	Rs.33,348,086	3rd Lowest Bidder
4.	M/S Chand .Engineering Works, Peshawar.	Rs.34,506,550	4 th Lowest Bidder

DIRECTOR ANTI ENCROACHMENT FORCE SINDH, KARACHI

COMPARATIVE STATEMENT

PROCUREMENT OF COMPLETE UNIFORM ARTICLES FOR THE STAFF OF ANTI-ENCROACHMENT FORCE FOR THE YEAR 2016-17

S.No.	Name of Items		M/S Trade Zone, International.		M/S Mohsin Enterprise		sin Enterprises	M/S Shaheer Traders, Karachi.		M/S Chand Engineering Works, Peshawar.	
		Quantity	Rate	Amount	Rate	Amount	Rate	Amount	Rate	Amount	
1	MAZRI SHIRT	7000	1,237	8,659,000	1,242	8,694,000	1,245	8,715,000	1,299	9,093,000	
2	K.D PENT	7000	1,429	10,003,000	1,433	10,031,000	1,435	10,045,000	1.500	10,500,000	
3	BERET CAP	7000	254	1,778,000	260	1,820,000	263	1,841,000	265	1,855,000	
4	SOCKS FOR MEN	7000	125	875,000	128	896,000	130	910,000	131	917,000	
5	COTTON DURREE	600	923	553,800	926	555,600	930	558,000	970	582,000	
6	MT DRIVER BOOT	50	2,990	149,500	3000	150,000	3,008	150,400	3,176	158,800	
7	MOSQUITO NET	1000	1,028	1,028,000	1,030	1,030,000	1,032	1,032,000	1,080	1,080,000	
8	STAFF SHOES	1029	3,574	3,677,646	3,580	3,683,820	3,584	3,687,936	3,750	3,858,750	
9	KIT BOX	1750	2,725	4,768,750	2,730	4,777,500	2,733	4,782,750	2,736	4,788,000	
10	SHOULDER BADGE	2000	228	456,000	230	460,000	233	466,000	239	478,000	
11	CAP BADGE	2000	114	228,000	118	236,000	120	240,000	119	238,000	
12	T SHIRT Pure Cotton Black Colour.	1000	913	913,000	915	915,000	920	920,000	958	958,000	

Auf Art (PSP)
Superintendent of Police
Keamari, Karachi

Dr. Nuhamond Paroog/ PSP
Director Anti Encroachment Force,
Anti Encroachment Force,
Sindh, Karachi.

Imran Riaz (PSP) Superintendent of Police, Security Zone-II, Karachi Method and Procedure of Procurement: Open Competitive Bidding (National/International Competitive Bidding) (Single Stage-One Envelop)

Subject: -

PROCUREMENT COMPLETE UNIFORM ARTICLES FOR THE STAFF OF

ANTI-ENCROACHMENT FORCE FOR THE YEAR 2016-17

Date of Opening: 13-04-2017

BIDDER'S ELIGIBILITY/QUALIFICATION REPORT.

Eligibility Qualification Criteria:

		Bidders' Name						
S. No.	Eligibility Qualification Criteria:	M/S Trade Zone International	M/S Mohsin Enterprises	M/S Shaheer Traders, Karachi.	M/S Chand Engineering Works, Peshawar.			
1.	Registration with PEC (if applicable)	N/A	N/A	N/A	N/A			
2.	NTN	Yes	Yes	Yes	Yes			
3.	Sales Tax Registration	Yes	Yes	Yes	Yes			
4.	Registration with Sindh Revenue Board (SRB)	N/A	N/A	N/A	N/A			
Qua	lification Criteria:							
5.	Minimum three years' experience of relevant field.	Yes	Yes	Yes	Yes			
6.	Minimum three years' experience of relevant field. Turnover of at least last three years.	Yes	Yes Yes	Yes	Yes Yes			
5. 6. 7.	relevant field. Turnover of at least last three years. Required Bid Security is attached.	ATT (4.5%)			I SECRET			
6.	relevant field. Turnover of at least last three years.	Yes	Yes	Yes	Yes			
6. 7.	relevant field. Turnover of at least last three years. Required Bid Security is attached. Bid is signed, named and stamped by the authorized person of the firm along with	Yes Yes	Yes Yes	Yes Yes	Yes Yes			

Superintendent of Police, Keamari, Karachi

Dr. Muhammad Faroog (PSP)

Director Anti Encroachment Force,

Imran Riaz (PSP)

Superintendent of Police,

Security Zone-II, Karachi

Sindh Karachi



OFFICE OF THE DIRECTOR ANTI ENCROACHMENT FORCE, SINDH, KARACHI.

Subject:-

MINUTES OF THE MEETING OF BID OPENING FOR PROCUREMENT OF COMPLETE UNIFORM ARTICLES FOR THE STAFF OF ANTI-ENCROACHMENT FORCE FOR THE YEAR 2016-17 HELD ON 13-04-2017

A meeting of the Procurement Committee of this office was held on 13-04-2017 for opening of the Bids received in respect of subject NIT in News Paper dated 29 & 30-03-2017 / SPPRA Web Site at Sr. No. 32465, dated 09-04-2017 till deadlines of submission. The meeting was attended by all / following members of the procurement Committee and the representatives of bidders.

(Attendance Sheet is enclosed)

- Four bidders submitted their bids till the deadline of submission:-
 - 1. M/S Trade Zone International.
 - 2. M/S Mohsin Enterprises.
 - 3. M/S Shaheer Traders, Karachi.
 - 4. M/S Chand Engineering Works, Peshawar.
- The bids were opened at 11:30 AM in the presence of the above mentioned participants and the rates quoted by bidders were read aloud and encircled by Chairman of the Procurement Committee.
- The bids do not contain any over-writing or cutting.
- 5. The Committee shall examine all the bids as per the qualification / eligible the criteria provided in the bidding document and verify the documents and bid security submitted by the bidders (if required).

The meeting ended with the vote of thanks to and from the Chair.

Arif Aziz (PSP)
Superintendent of Police,
Keamari, Karachi

Dr. Muhammad Fafooq (PSP)
Director Anti Encroachment Force,
Sindh Karachi

Imrar Riaz (PSP) Superintendent of Police, Security Zone-II, Karachi

Attendance Sheet

Opening of tender Bids of Uniform Articles for the year 2016-17 for the Staff of the Anti-Encroachment Force Sindh, Karachi held on 13-04-2017 at 11-30 a.m.

	Encroachment Force Sindh	, Karachi held on :	13-04-2017 at	11-30 a.m.	
S. No	Name	Designation	Date	Telephone No.	Signature
1.	11 FARRICK Almed	Director AET		99265669	7 3
2.	Imron Riaz	SP Secure	J	99244635	9
3.	And Aziz	SP Keaman	(:		Currier
4.					
5.					
6.					
7.	Mehsin Enterprises	N Sanager	13-4-17	03368220116	DATA
8.	Shakeer Traders	Director	13/4/17	0341-284952	9 Ahiddy
9.	Trade Zone	Director	13/4/17	03360138914	Auto
10.	Chand Engineering	Manager	13-04-17	0310-2326161	MASS



OFFICE OF THE DIRECTOR ANTI ENCROACHMENT FORCE, SINDH, KARACHI.

Subject:- MINUTES OF THE MEETING OF THE PROCUREMENT COMMITTEE FOR TECHNICAL EVALUATION OF UNIFORM ARTICLES FOR THE STAFF OF ANTI-ENCROACHMENT FORCE STAFF FOR THE YEAR 2016-17 HELD ON 14-04-2017

A meeting of the Procurement Committee for Technical Evaluation of Uniform Articles for staff of Anti Encroachment Force, Sindh Karachi for the year 2016-17 held on 14-04-2017 at 11.00 a.m under the Chairmanship of Director, Anti Encroachment Force, Sindh Karachi, the following attended:-

Dr. Muhammad Farooq (PSP)
 Director Anti Encroachment Force,
 Sindh Karachi.

Chairman

 Arif Aziz (PSP), Superintendent of Police, Keamari, Karachi Member

 Imran Riaz (PSP), Superintendent of Police, Security Zone-II, Karachi. Member

- 2. On the date of opening of Tender Bids i-e on 13-04-2017 out of five (05) companies/firms following four (04) companies/firms submitted their bids along with samples of the Uniform Articles:-
 - 1. M/S Trade Zone, International.
 - 2. M/S Mohsin Enterprises.
 - 3. M/S Shaheer Traders, Karachi
 - 4. M/S Chand Engineering Works, Peshawar.
- 3. The Chair welcomed to the participants. The Procurement Committee after going through the Samples of the Uniform Articles submitted by the above Bidders with their Bids were thoroughly, examined in the light of specifications of the Anti Encroachment Force, Sindh Karachi, as mentioned in the Tender Document, wherein found the samples of the above Companies according to the specifications of the Tender Document of Uniform Articles. Accordingly the Procurement Committee recommended all above Companies for finally approving any one of the Bid by the Competent Authority as policy/ SPPRA Rules accordingly.

The meeting ended with the vote of thanks to and from the chair.

Superintendent of Police, Keamari, Karachi Imran Riaz (PSP) Superintendent of Police, Security Zone-II, Karachi

Dr. Muhammad Faróoq (PSP)
Director Anti Encroachment Force,
Sindh Karachi

Attendance Sheet

Meeting of Procurement Committee for Technical Evaluation of Uniform Articles for the year 2016-17 for the Staff of the Anti-Encroachment Force Sindh, Karachi held on 14-04-2017 at 11-00 a.m.

S. No	Name	Designation	Date	Telephone No.	Signature
1.	M. PAROUE Amed.	Director Met		99115119	+ 13
2.	Imran Ridz	SP Sourty Jone II		99244635	6
3.	Imran Ridz And Aziz	SP Keamari Sindh, Kanachi		9926302	23 July
4.	• • 0				
5.					
6.					
7.					
8. :					
9.					
10.					



OFFICE OF THE DIRECTOR, ANTI ENCROACHMENT FORCE, SINDH, KARACHI.

DIR/AEF/AB/ 2775 Karachi dated 18 - 04 - 2017.

The Assistant Director (Assessment). Sindh Public Procurement Regulatory Authority, Karachi.

Subject:- NIT NO.DIR/AEF/AB/ 2600/KARACHI DATED 28-03-2017 (Sr. No.32465)

Refer to your office letter No. AD(ASMT)SPPRA/AEF-32465)2016-17/1907 dated 18-04-2017, on the subject noted above.

- NIT published on the leading news paper on dated 29-03-2017 and last date of issuance is 13-04-2017. Hence the requirements of Rule-18 is compiled. However, NIT along-with bidding documents could not send Sindh Public Procurement Regulatory Authority, Karachi within time, has been noted for future compliance.
- The Chairman of Complaint Redressal Committee (CRC) D.I.G East Zone, Karachi is 2/2.from Police Department, Sindh, an independent professional of the relevant field, which may be treated as Independent Professional.
- 3/3.Bid validity Periods is 90 days. Bid Performance Security is @ 10%.

Bidder Eligibility Qualification Criteria is enclosed for your ready reference. 4/4.

> ANTI ENCROACHMENT FORCE SINDH KARACHI

A copy is forwarded for information to :-

The Secretary Board of Revenue, Sindh, Karachi The Staff Officer to MD, SPPRA, Karachi.

For mya pli

Directorate of Anti Encroachment Force, Board of Revenue, Sindh, Karachi.

BIDDER'S ELIGIBILITY

Open Competitive Bidding (National Competitive Bidding) (Single Stage-One Envelop)

Subject: -

PROCUREMENT COMPLETE UNIFORM ARTICLES FOR THE STAFF OF ANTI-ENCROACHMENT FORCE FOR THE YEAR 2016-17

Date of Opening: 13-04-2017

BIDDER'S ELIGIBILITY.

Eligibility Qualification Criteria:

S. No.	Eligibility Qualification Criteria:
2.	NTN
3.	Sales Tax Registration
4.	Registration with Sindh Revenue Board (SRB)
5.	Minimum three years' experience of relevant field.
6.	Turnover of at least last three years.
7.	Required Bid Security is attached.
8.	Bid is signed, named and stamped by the authorized person of the firm along with Authorization letter.
9.	Any other factor deemed to be relevant by the procuring agency subject to provision of Rule-44
10.	Qualified / disqualified.

DIRECOTR

ANTI ENCROACHMENT FORCE
SINDH <u>KARACHI</u>